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1. Draw structure(s) of intermediate(é) or product(s) for each following reaction.
Indicate the stereochemistry if necessary. Answer your questions in order. (60
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2 Deduce the mechanism for the following transformation. (10 pt)
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3. (a) Draw the most stable chair conformation of each following compound (6 pt)

(b) Rank in order of decreasing reactivity in an E2 reaction.(4 pt)
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4. Propose a synthetic strategy from the provided starting material. (10 pt)
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. 5. Determine the structure based on the following NMR spectrum. Its chemical
! fomula is C;;H140,(10 pt)
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